

































































COCTAB U3OENNA

NO. ‘ HaumeHoBsaHue Kon- NO. ‘ HaumeHosaHue
BO

1 FS350 1 bayok ona sBoasl 1 34 FS350 34 LWTok 1 1
2 FS350 2 Tpybka opoLueHus 1 35 FS350 35 PykosATka 1
3 Bont M10x40 DIN 933 4 36 BuHT M8x20 DIN912 3
4 LWawnba 10 DIN 127 11 37 FS350 37 Pama 1
5 [aika M18 DIN 934 1 38 FS350 38 PykoAaTka pukcupyrowas 1
6 LWanba 18 DIN 127 1 39 FS350 39 Pyuka npuxumHas 3
7 FS350 7 Waitba nesas 1 40 BuHT M12x30 DIN912 1
8 FS350 8 Auck 1 41 Waiba 12 DIN 7349 1
9 FS350 9 Waitba npaBas 1 42 FS350 42 Pyuka 1
10 FS350 10 MoawmnHuk KopnycHowm 2 43 Bont M10x76 DIN 933 2

TR P204 44 laika M10 DIN 555 3
11 FS350 11 WnoHka 5x5x18 DIN 6 1 25 MoawnnHuk 6203 DIN 625 2
12 FS350 12 Ban Benyuit 1 26 FS350 46 Koneco 1 5
13 FS350 13 3awmTHbIN KOXyX 1 47 Bont M8x12 DIN 933 4
14 BuHT M10x20 DIN912 3 28 Burt M10x30 DIN 912 1
15 FS350 15 bpbi3rosuk 1 49 FS350 49 ILToK 2 1
16 Bonr M6x20 DIN 6921 2 50 FS350 50 Kopnyc pykoaTku 1
17 FS350 17 BTynka BepTuKanbHas 1 51 Bur M8x12 DIN 912 1
18 | lWanta 10 DIN 125 ? 52 | BunT M10x35 DIN 912 2
L BurT M10x20 DIN912 4 53 FS350 53 MoawunHuk KoprycHoM 1
20 BuHT M6x10 DIN 7991 1 FL 207
21 FS350 21 Btynka pukcatop 1 54 laka M10 DIN 982 5
22 BuHT M8x16 DIN912 2 55 BuHT M8x45 DIN 912 1
23 Waiba 8 DIN 7349 5 56 Bont M10x78 DIN 933 1
24 FS350 24 Wkue 30x70x66x13x2 1 57 FS350 57 Mnatdpopma 1
25 FS350 25 WnoHka 5x5x28 DIN 1 58 FS350 58 Ponvk 1

6885 59 FS350 59 Lkne 25x90x41x13x2 1
% fpurarens HONDA GX 200 ! 60 FS350 60 WnoHka 8x7x32 DIN 1
27 Bont M8x40 DIN 933 4 6885
28 LWain6a 8 DIN 125 4 61 FS350 61 Kpebiwka pemHA 1
29 Waiba 8 DIN 127 9 62 FS350 62 PemeHb 13x830 A 2
30 laiika M8 DIN 555 4 63 FS350 63 WuTok 1
31 WrneT 4x20 DIN 7 7 64 FS350 64 CronopHoe konbuo 17x1 2
32 FS350 32 BTynka KoHU4eckas 1 DIN 471
33 | CronopHoe Konbuo 13x2 DIN 7993 | 1 65 | F535065 Koneco 2 2

66 FS350 66 LUTok perynatop 1

21



® Ten. 8-800-333-11-97
LGRIOSY " 05550007






